

Monday 6:30 pm

New Berlin Bowl

Lanes 1 - 20

Team Standings

Place	Lane	#	Team Name	1st Part		2nd Part		3rd Part		4th Part		High Game	High Sers
				WON	Place	WON	Place	WON	Place	WON	Place		
1	3	5	Just Rollin' Wit	119	1	119	1	0	0	0	0	958	2689
2	8	15	Team 15	101½	5	117½	2	0	0	0	0	961	2770
3	1	11	Callahan Auto Parts	117	2	103	3	0	0	0	0	939	2643
4	6	20	Team 20	112	3	100	4	0	0	0	0	902	2617
5	16	13	Amann's	78½	12	98½	5	0	0	0	0	874	2467
6	19	7	Lynch's	90	8	92½	6	0	0	0	0	943	2653
7	14	3	Team 3	80½	11	92	7	0	0	0	0	909	2487
8	20	16	Dream Team	103	4	90½	8	0	0	0	0	915	2595
9	9	8	Club L	86½	9	85	9	0	0	0	0	897	2505
10	5	4	Team 4	55½	19	84	10	0	0	0	0	856	2456
11	11	10	X-Men	65	16	83½	11	0	0	0	0	865	2426
12	18	14	Team 14	91	7	82	12	0	0	0	0	909	2390
13	17	6	The Grant Finale	101	6	78½	13	0	0	0	0	905	2514
14	2	17	Team Upson U.S.A	75½	14	75½	14	0	0	0	0	893	2432
15	7	9	D. Williams Serv	84	10	74	15	0	0	0	0	928	2451
16	15	18	Scratched Balls	69½	15	72½	16	0	0	0	0	924	2522
17	12	19	The Thielmann Gr	77½	13	72	17	0	0	0	0	940	2527
18	4	12	Wire Specialists	47½	20	53	18	0	0	0	0	831	2299
19	10	2	Barrel Proof	62½	17	50½	19	0	0	0	0	878	2493
20	13	1	Britney Spares	60	18	48½	20	0	0	0	0	966	2545

Review of Last Week's Bowling.....

Lanes	Team Name	-1-	-2-	-3-	Total	Last Wk WON		Team Name	-1-	-2-	-3-	Total	Last Wk WON
1-2	D. Williams Serv	693	814	842	2349	11	<--->	Team 20	851	806	813	2470	13
3-4	Amann's	665	796	730	2191	15	<--->	Britney Spares	757	707	699	2163	9
5-6	Team Upson U.S.A	786	634	729	2149	6½	<--->	Team 15	749	799	864	2412	17½
7-8	Club L	692	672	897	2261	4	<--->	Callahan Auto Parts	843	861	939	2643	20
9-10	Team 14	787	764	789	2340	6	<--->	Team 4	809	846	792	2447	18
11-12	The Grant Finale	745	752	824	2321	21	<--->	Barrel Proof	668	742	722	2132	3
13-14	Wire Specialists	633	617	748	1998	3	<--->	Scratched Balls	744	753	797	2294	21
15-16	Dream Team	800	817	765	2382	6	<--->	Team 3	738	909	840	2487	18
17-18	X-Men	769	865	792	2426	19	<--->	Lynch's	675	815	710	2200	5
19-20	Just Rollin' Wit	840	817	712	2369	18	<--->	The Thielmann Gr	724	794	691	2209	6

Lane Assignments

	1-2	3-4	5-6	7-8	9-10	11-12	13-14	15-16	17-18	19-20
Today	11-17	5-12	4-20	9-15	8-2	10-19	1-3	18-13	6-14	7-16
Next Week	13-3	8-20	12-16	19-1	10-5	18-7	11-15	17-14	2-9	4-6

Last Week's Top Scores

Team Scratch Game		Team Scratch Series	
939	Callahan Auto Parts	2643	Callahan Auto Parts
909	Team 3	2487	Team 3
897	Club L	2470	Team 20
Scratch Game		Scratch Series	
300	Jim Buchholz	748	Jeff Igielski
279	Jeff Igielski	738	Jim Buchholz
277	Josh Rayeske	683	Paul Kaboskey

Season High Scores

Team Scratch Game		Team Scratch Series	
966	Britney Spares	2770	Team 15
961	Team 15	2689	Just Rollin' Wit
958	Just Rollin' Wit	2653	Lynch's
Scratch Game		Scratch Series	
300	Jim Buchholz	804	Brad Peters
300	Brad Peters	761	Alan Butterfield
299	Alex Hauke	757	Brad Zimmerman

Split 1 High Scores

Team Scratch Game	Team Scratch Series
-------------------	---------------------

Team Scratch Game

966 Britney Spares
 961 Team 15
 958 Just Rollin' Wit

Scratch Game

300 Brad Peters
 299 Alex Hauke
 279 Danny Rajchel

Team Scratch Series

2770 Team 15
 2689 Just Rollin' Wit
 2653 Lynch's

Scratch Series

804 Brad Peters
 757 Brad Zimmerman
 736 Aaron Stack

Team Rosters

ID #	Name	Pins	Gms	Avg	Points Won	ID #	Name	Pins	Gms	Avg	Points Won
1 - Britney Spares Avg=718						2 - Barrel Proof Avg=776					
64	Jon Aiuppa	4262	27	157	4.0	97	Logan Fogeltanz	6068	30	202	26.0
61	Ross Jacomet	5860	33	177	18.0	98	Steve Ramlow	4037	24	168	12.5
63	Alex Hauke	7684	39	197	16.5	99	TJ Signer	7297	36	202	24.5
93	Derek Panoch	6176	33	187	17.0	100	Matt Mattioli	4900	24	204	18.0
62	Matt Fellenz	5178	30	172	11.0	116	Matt Strebis	3412	24	142	2.0
119	Dennis Folker	1185	6	bk196	6.0	125	Jeremy Simons	1083	6	bk183	
3 - Team 3 Avg=792						4 - Team 4 Avg=758					
16	Josh Bartlett	7557	39	193	32.0	101	Steve Miokovich	7110	36	197	25.0
70	Ryan Dimond	7094	36	197	27.0	102	Kyle Jinkins	8156	42	194	33.5
14	Adam Webb	5432	27	201	17.0	103	Tyler Blankenheim	7604	42	181	19.0
73	Eric Walker	4834	24	201	17.0	104	Peter Schiebel	5600	30	186	13.0
15	Greg Walker	5576	33	168	16.5	124	Dustin Tycz	1099	6	bk170	2.0
5 - Just Rollin' Wit Avg=813						6 - The Grant Finale Avg=787					
53	Hannah Nielsen	6681	33	202	27.0	52	Janine Loveland	6816	33	206	28.0
55	Kathie Quigley	6293	33	190	32.0	50	Marti Straka	7663	42	182	26.0
113	Brad Peters	8821	42	210	39.0	51	Ashley Albrecht	7043	39	180	20.5
56	Jody Nielsen	7629	36	211	25.0	91	Grant Von Haden	5932	27	219	30.0
90	Sigmone Julien	1762	9	bk198	9.0	88	Jill Zentkowski	2005	12	bk156	5.0
54	Curtis Lovas	1917	9	bk194	9.0	86	Tammy Czerwinski	998	6	bk171	2.0
7 - Lynch's Avg=770						8 - Club L Avg=784					
9	Ryan Hoemke	5003	27	185	17.5	77	Mike Owens	4618	24	192	11.5
10	Bill Ballering	6350	36	176	24.0	28	Scott McDowell	6252	33	189	27.0
11	Mark Malchow	8669	42	206	35.0	26	David Peterson	6432	33	194	25.0
12	Andy Gromowski	7948	39	203	28.5	27	Mike Albrecht	8157	39	209	32.0
68	Will Hudson	3413	18	bk186	16.5	25	Bill Berkahn	3861	21	183	10.0
129	Charles Discasey	643	3	bk196	4.0	122	Randy Schmidt	1595	9	bk168	5.0
9 - D. Williams Serv Avg=785						10 - X-Men Avg=738					
1	Dave Moyle	8387	42	199	31.5	33	Lance Johnson	7291	36	202	25.0
2	Ryan Rayeske	4364	24	181	12.0	34	Terry Norton	4461	27	165	13.0
3	Josh Rayeske	7473	36	207	28.0	35	Brian Baker	5623	30	187	15.0
4	Doug Williams	6544	33	198	17.5	83	Jeff Deubig	1608	9	bk184	5.0
67	Kevin Nielson	4792	27	177	13.0	36	Matt Vetrone	4608	24	192	9.0
66	Dan Prebil	0	0	bk176		81	Mike Little	4863	24	202	16.0
11 - Callahan Auto Parts Avg=794						12 - Wire Specialists Avg=707					
21	Jim Buchholz	8117	39	208	34.0	80	Justin Kurtz	4225	21	201	14.5
22	Parker Galganski	7965	42	189	36.0	30	Charlie Mauer	3811	27	141	7.0
23	Mike Schaefer	7572	39	194	34.0	31	Jason Rose	4436	24	184	11.0
24	Jeff Igielski	7317	36	203	30.0	32	Bob Rose	4346	24	181	9.0
126	Josh Schaefer	1116	6	186	2.0	29	Randy Rich	4147	24	172	9.0
13 - Amann's Avg=731						14 - Team 14 Avg=758					
38	Frank Malasuk	3446	21	164	7.0	45	Damien Peltonen	5955	33	180	14.0
40	Al Harvey	4236	24	176	17.0	46	Jeff Dickson	7069	42	168	26.0
39	Joe Hlunck	7551	39	193	34.5	47	Shawn Piekarski	7994	39	204	36.0
84	Keith Harvey	5961	30	198	13.0	48	Ken Knaak	8686	42	206	34.0
37	Allan Schultz	5859	30	195	19.5	121	Dan Rabehl	1126	6	bk204	4.0
85	Jimmy Eagle	4427	24	184	22.5	128	Jordan Spalsbury	549	3	bk203	2.0

ID #	Name	Pins	Gms	Avg	Points Won
15 - Team 15 Avg=815					
105	Sam Lloyd	8193	39	210	35.0
106	Mitchell Magyar	7036	39	180	27.0
107	Danny Rajchel	9161	42	218	47.5
108	Brady Lloyd	7478	36	207	26.0
118	LeRon Bridges	1862	9	bk188	6.0
120	Tyler Magyar	574	3	bk188	2.0

ID #	Name	Pins	Gms	Avg	Points Won
17 - Team Upson U.S.A Avg=750					
115	Jeremy Baxter	6595	33	199	21.0
42	Paul Hruz	3469	22	157	11.5
43	Dan Mies	7689	42	183	21.0
44	Steve Imhoff	8245	39	211	35.0
41	Pete Upson	3317	18	bk184	10.0

ID #	Name	Pins	Gms	Avg	Points Won
19 - The Thielmann Gr Avg=802					
17	Craig Coakley	3666	18	bk211	11.0
19	Todd Gutowski	7167	38	188	27.0
74	Curt Beischel	5298	27	196	17.5
20	Brad Zimmerman	8694	42	207	25.5
18	Dave Bremer	7056	39	180	21.0

ID #	Name	Pins	Gms	Avg	Points Won
16 - Dream Team Avg=808					
114	Tyler Winslow	7946	42	189	29.0
59	Chris Kaboskey	6915	39	177	17.5
58	Alan Butterfield	9231	42	219	39.5
60	Paul Kaboskey	9387	42	223	36.5
92	Tom Heberlein	548	3	bk182	4.0

ID #	Name	Pins	Gms	Avg	Points Won
18 - Scratched Balls Avg=774					
109	Bryan Berens	6306	33	191	21.0
110	Nate Krueger	5519	30	183	15.0
111	Justin Denzer	6497	36	180	14.0
112	Dylan Haertl	7278	33	220	28.0
117	Jared Schilling	5362	27	198	16.0
127	Rick Haertl	1133	6	bk197	1.0

ID #	Name	Pins	Gms	Avg	Points Won
20 - Team 20 Avg=803					
7	Zach Rose	7538	37	203	33.0
6	Alvin Brooks	7082	39	181	20.0
5	Mike Rose	6763	33	204	26.0
8	Aaron Stack	8411	39	215	38.0
95	Abe Lang	2298	12	bk186	11.0

